
 
 

 

 2023חורף  481 שאלון סופיפתרון   

 

 1שאלה 

 קמ"ש. 64 – משאיתא.  

 קמ"ש. 84 – מכונית     

 ק"מ. 48 ב. 

 

 2שאלה 

 M(12, -10).  1א

  12 –(x(y +  2)+ 10(2  =100.  2א

 B(4, -4)      ,C(4, -16)  ב. 

  K(-8, 0)ג.   

  2y+  2)8 +(x  =144 .  ד

MK = √500. 1ה =  ס"מ 22.36

 . המעגלים אינם משיקים.2ה

 

 3שאלה 

   א.
𝟏𝟑

𝟑𝟓
 

 ב.  
𝟗

𝟐𝟔
 

 X=9  ג. 

   ,ד.  ההסתברות קטנה
𝟏𝟖

𝟓𝟓
<

𝟏𝟑

𝟑𝟓
 

 

 4שאלה 

 הוכחהא. 

 הוכחהב. 

 הוכחהג. 

 AB=20. 2ד    ED=5. 1ד



 
 

 

 

 5שאלה 

 AC = 6א.  

 ABC = 41.768°∢ ב.

 BE = 7.359  ג.

 ס"מ. 3.938ד. 

 

 6שאלה 

 xכל א.  

 min(-2 , a-1)      ,max(2 , a+1)ב.  

 a = 1ג.  

  y = 1  ד.

 ה. 

 . 

 III. גרף 1ו

S.2ו = 2.4  

 

 7שאלה 

 X ≥ -5א.  

 (0 , 5-)   ,   (0 , 0)ב.  

 בקצה. min(-5 , 0) , פנימי min (0 , 0) , פנימי max (-4 , 32)ג.  

 

 



 
 

 

 ד. 

 

 c = 12    ,c = -20 ה.

 

 8שאלה 

  A(2,0)א. 

,B(𝑡ב.   1 −
𝑡

2
)    ,C(5, 1 −

𝑡

2
) 

 , B(4 )ג.  
1

2
 

 , הוכחה. S=1ד. 


